Instruction Manual suwesrexco,

:O: SIB-EX Series @ @D

FREESERMZAVRCEETMH. AT FRERMEUARBERFENER, LWRETFH.
RIS S BARHIE I,

0 HTREBEEFTHFR

A\ WARNING

* SIB-EX SeriesES FHE R T ERFERIERAMIR Y.
* SIB-****EXES PR LAERTEE XY, 3IXEMBIRAIIETS .
BESEIRSELE IBINRE Class To(EEXR 1),
* BB RIBLIE R ERLE,
* TEIR LT AR
KRR, MABERSE 0V,
* EEAR SN, AFRNERSE ATRSIPERREBEDR, KT HLXRSY S,
* YIRBLABDE. “HEF=RR0E. TAMRIERFATELARAHEIRS.
* BEMHENRIR, WRAKEIRR.
* BB EORIR, ATHLLER. BEIHRERTEE.

BEZR [ 1 | 12 [ 131 [ 15 [ 16 |
SAFERECQ | 450 | 300 | 200 | 135 | 100 | 85 |
% 1:Group Il XFESHNBLERBEARTRE

@) i\ PackageB®

> FEmEBE
FEEAMY Package BN FAYEL L.

— —
T TT T
4] ] I

lon Bar X SIB-+HEXCRAg R AT,
SIB-EX Series / Tea (MHEIHFITA SIB-*+*EX)

©
* Connector Plug * Cable Guide * Banana Plug * Cable Guide Bolt
(For SBP-07A2) (For SBP-07A2) (For SBP-07A2) (For SBP-07A2)
SCP-EX-001 SCG-EX-001 SBP-EX-001 SCB-EX-001
/1ea /1ea /1ea M4x6L / 1ea
=0
e e i 1 —
o4
* Ground Cable *H/V Pin * Flexible Shield
SGC-MT-4-003 (For SBP-08A3, SBP-08A1EX) (For SBP-08A3, SBP-08A1EX)
10m /@6-@4[mm] / 1ea SHP-BM-001 SFS-EX-001
1~2ea Max.10m/ 1ea
»> JENNEYF=5 Option

EANF S50 T R EE INE IR A ST T RTE.

* Flexible Hose

mﬂmmm ﬂﬂﬂﬂﬂﬂmm (For SBP-08A3, SBP-08A1EX, SBP-07A2)
SFH-EX-001

Max.10m / 1ea

BERIRYBFR

» lon Bar (SIB-EX Series) Side Bracket @
R EBIAFTEEE FHEFBRY Bracket,
(BRES—EER)

ESEMER R
SRR,

H/V Cable Connector @-.----is-rven:

Controllerfy lon Bar

4 Portiin .
BER R . Ground Bolt 0
RE lonZpRaseE, AEETIEER. FREEEAR
(EEETROIENE ) 20mm) Ground BoltZ FisHkiith,

O TRUREE
> BERIAYRE
* AR, REMIRTRRS
N R R SRS L R R,
* BAESHR
BRI AR,

» lon BangEFi%
BEBE AR T REFESIRENSR BT B EERE.
EHERERESE THINSE,

* FELRHE MY RERFE.
* ATRRF R, ANRRERES.

A\ WARNING

> HEHE
IR BT E EEIR R T,
SHIERYIIREE 50~200mmEIERZEE T RN SRIMIAIE. SRIF-mRATIEE.
FrARERRIRINERZE. IEF ROt B EE KT,
IESHEEE RN L MOESRIRE.

* B RERYIERZ20mmILT,
AREIRREINETAR LR, M, KR,

* EARMEERSER.

* ATFLLREBE CablefdiRif, REEMMNGERELE,

A\ WARNING | * Bt T EXHEE SEEHEE,

* BT BB Y AR B R,

* ATBHILAEBEHAIR, IIERGREE.

* ATIERSHMRERE. BRELEFANES.

* AR SRIR SRR EERT.

EiARZERE

TEHESLEA M5 or M6 BoltREERMIE R -hIEEE2E TR E A,
PR, g, RRERREMIE.

I
1 [ 1|
[ il 1| il \”:‘
11 LI 1|

Bolt

wwop Uiy

Min 50mm ~
EE M5 or M6 I Max 200mm lé/(l)Sltor M6

wwol Uiy

03

AEILEFEHFR SN
FEREFEZRNTYS. BFEHIIRENRRED 400mmll ERERRE.

J
i

Min 400mm Min 400mm

A
Y
A

BFELTRER
NERBFEZENTY. BREFEZEED 100mmil LHERRE.

= —

Min 100mm
> EgSwEE 000
H/V Cable Power Controller
S = Connector

=l © s

! Terminal
L

Ground Cable S —— N

* BREGRORMRIEVURALE H/V CablefE,
@ CAUTION | H/V Cablef A RIGHIES SBFRIE,
* H/V CablefE2IRHREIRIAR SRR Off, WIAFZEBHT.

T A& Power Controller
SIB-EX SeriesE]LAFIANT Power Controllera] LAZES,

>

* Power Controller * Power Controller * Power Controller

SBP-08A1EX SBP-08A3 SBP-07A2
(Exd IIB T6)

X SRR RERA SRS R ERNNERS. AR ERLEE.

* BRTIEEM ControllerZMABiEE, FRAREME.
@ CAUTION | * (ERSIRRIHZESIB-EX Serieshd, #4158 RaEERISBP-07A2,
BB R RERRXE

» H/V Cable Length

SBP-08A1EX SBP-08A3 SBP-07A2
10m(1EA) 10m(1EA)
Cable Length 10m
5m(2EA) 5m(2EA)
Flexible Shield ¢} o x
Connector M—e— M—{e—




04

» &% Ground
FIF3 M4 Ground Bolti#{TiHth,
Power ControllerttEifgE i TR SIB-EX Series Bar it e 2 EHEit,
BR. SRS ARENAeE,

Hexagonal Nut

1SO 4032
Material : Sta\'nlessfteel Fixable Object
‘ &
=i
L Ground Cable Ground Cable
Min 4mm? Min 4mm?
Sem’s Bolt(M4) ~ Ground Contact Area  Sem'’s Bolt(M4) ~ Ground Contact Area

JISB 1256 Min 4mm? JISB 1256 Min 4mm?
Material : Stainless Steel Material : Stainless Steel

X BIM—iBkY Side BrackettBATLAE E,
» & H/V Cable

* B AR R IR et E S R

* H/V Cable2 AT HIAY4ST Cable, FEERERIEK Cables,
@ CAUTION | + HyV CablefiiR37E CableE= 4 RRALIESE

H/V CablefRigEIREIRY Signalk—iSHES:,
FECHIERVE 200mmEIEEEHES.

> H/V Cable KEEiF% (REEAEHIREIT)
BELAIKER 10m, EREELRIIER ME— N HREkERIaE.
(EAEEXER, STMERRE. WRAHEREE. )

Power Controller (SBP-08A3, SBP-08A1EX)
3 b
C1 Wi iins

- BEX (a) BRERENTEIEKE.
EHEEEL (a) BT 17mm, % (b) iR Smm,

© W=/~ 5—- EHE)—

-8 (b) BABEELEETEEEERL.

Power Controller (SBP-07A2)

O i g

- REBAIREA "a" Flexible Tubefl "b" HEEELRITIER.
LAY, RS 10mmiKERR:.

@ i o=/

- AREENERKERR c — d — e I{FH%E Connector,

- fEF 2mmiABIRFH " BoltB&EA.

HERSF

ERBUHP RIS R AR EE. BUETIMEEREF R, KIS FRIS
PUREBH ARG, MRMEERETRE, BT RENRMIEMMEEIAAEE. R3]
RN, RIHEHREES (—BES—R) BE. FARRESHIENSINETE
KEREBHIRIHIETIS AR, BEIHIER,

* FERRARAE. EREEED. BRELEE,

@ CAUTION| MRERFEFXA. WEMEIREFHNGR,

* HESEEE R, MR, NERAFEEMEY. TRaSRER.

05

> BRI
- ERliEE: —A—R (168IEIERE)
< EREES: SMBR (2,160 EER)

> WEBEHEEIRRE
a. iEEZAIS XA Controllered )R,
b. EFRERRERZSERRERR, (FRIEAILAER)
¢ BEK, HEIERMEERISREIL 308 ((EFRETE : 2,160/ —REEHE SRR
(Wiper)itNEEEpE SRR A8 IPAISIRT,
d. i&E5e/EFFE Controllerf9esiE,
e. BB ELREEEERLTMN,

O BRI

> REMERRIANERE
[& AR BRAR
FEOERE | ESATEEE SEEESERIE,
BEARE | EEETERR ERETE
ErEshe | REETEUATER e R AR,
BEREN | (SRR SR BIRETE,

IMRE

U a | ‘
r |
No. Model No. (A B N:mzs"f Certification
1 SIB-100EX 160 102 3 ATEX
2 SIB-200EX 260 202 13 ATEX
3 SIB-300EX 360 302 23 ATEX
4 SIB-400EX 460 402 33 ATEX.

5 SIB-500EX 560 502 43 ATEX
6 SIB-600EX 660 602 53 ATEX
7 SIB-700EX 760 702 63 ATEX
8 SIB-800EX 860 802 73 ATEX
9 SIB-900EX 960 902 83 ATEX, KGS
10 SIB-1000EX 1060 1002 93 ATEX
11 SIB-1100EX 1160 1102 103 ATEX
12 SIB-1200EX 1260 1202 113 ATEX
13 SIB-1300EX 1360 1302 123 ATEX
14 SIB-1400EX 1460 1402 133 ATEX
15 SIB-1500EX 1560 1502 143 ATEX
16 SIB-1600EX 1660 1602 153 ATEX, KGS
17 SIB-1700EX 1760 1702 163 ATEX
18 SIB-1800EX 1860 1802 173 ATEX, KGS
19 SIB-1900EX 1960 1902 183 ATEX
20 SIB-2000EX 2060 2002 193 | ATEX KGS
21 SIB-2100EX 2160 2102 203 ATEX
2 SIB-2200EX 2260 2202 213 ATEX
23 SIB-2300EX 2360 2302 223 ATEX
24 SIB-2400EX 2460 2402 233 ATEX
25 SIB-2500EX 2560 2502 243 ATEX
26 SIB-2600EX 2660 2602 253 ATEX
27 SIB-2700EX 2760 2702 263 ATEX
28 SIB-2800EX 2860 2802 273 ATEX
29 SIB-2900EX 2960 2902 283 ATEX
30 SIB-3000EX 3060 3002 293 ATEX.

06

<<>T0p>
S et
gi=s 1 Ise
= @
<{Front)> o 7
O — s
{Bottom) (Side)
L]
30.0 72.0 40.0

O #E

Parameter

Description / Value

lon-Generation Method

Corona discharge AC (Capacity coupled)

Applied Voltage

Max AC 7kV(£7%), 50/60Hz

Max. Current

SmA(from emitter point earth)

Main Body Aluminum, PVC, PA
Bracket
Material s
Electrode SUS
Cable Insulator PE, PVC

lon Bar Length

100mm ~ 3000mm (Step 100mm)

Cable Length Max. 10m (lon Bar to Controller)
Operating Distance 50 ~ 200mm (Non air pressure)
Mounting Method Ceiling, Wall
Ambient Condition 0C< Tamb <+40C

Warranty 1 year
Atmospheric Pressure 80kPa ~110kPa
ECEx Test Report: IEC 60079-0:2017, 7th Edition
Certification Standard IECEX Test Report: IEC 60079-7:2015, 5th Edition
IECEx Test Report: IEC 60079-33:2012, 1st Edition
Type of Protection ExebsbIAT6 Gb

AT FRMRHER. FIEEAERISAL. M= RAs MRS,

SUNJE HI-TEK CO., LTD

www.sunstat.com

| Head Office & Factory (Busan)
8 Cheonggwang-gil, llgwang-Myeon,
Gijang-Gun, Busan, Korea
T) +82-51-720-7500  F) +82-51-720-7501

| Sales Headquarter (Osan)
795 Naesammi-dong, Osan-si, Gyeonggi-do,
Korea
T) +82-31-203-9034  F) +82-31-202-9034

Customer Center +82-70-7714-9033
Sales Contact +82-31-203-9034

] Sunje Japan Co,, Ltd.
Dai 7 Matsuya Bldg 10F 1005 2-23, Honmachibashi,
Chuo-ku, Osaka, Japan
T) +81-6-6949-5001  F) +81-6-6949-5011

| Sunje (SHANGHAI) Trading Co.,Ltd.
Block C, 4F, No.482, Hongxu Road, Minhang District,
Shanghai, China
T) +86-21-5433-9761 F) +86-21-5433-9762

| Sunje Technology Co., Ltd.
2F, No.6, Lane. 102, Sinhe Rd, Sinfong Township,
Hsinchu County, Taiwan 30472
T) +886-3-568-7891  F) +886-3-568-7950

Copyright 2021. SUNJE Hi-Tek Co., Ltd. All Rights Reserved. ‘D Hidden Champion 100

Materials-Components-Equipment



